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POLYNOMIALS

Very Short Answer Type Questions

1.Find ax? 4 bx? + cto be polynomial p & q are:

A. Rational Numbers
B. Natural Numbers
C. Real Numbers

D. Whole Numbers


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dZU2QFpe8XdI

Answer:

o Watch Video Solution

2. Which of the following is/are polynomial (s):

A \/Te +5

B./7z + 5

C \/7:13—#5
\/7:13—5

5x°/% 4 32°%/2
D.
I

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dZU2QFpe8XdI
https://dl.doubtnut.com/l/_KHjjs19wCZo3

3. Choose the correct option for a polynomial:
(i) 3x+2 (ii) 7x+1=0
(i) 5z* + 32% + 1 = 0 (iv) z* + 32 + 1
A.lamd ii
B. I &iii
C.ii&iv

D.1&iv

Answer:

o Watch Video Solution

4.The terms of the polynomial 2° — 4z — 3z + 2 are:

A.1,-4,3,2


https://dl.doubtnut.com/l/_8eBdPmOQ6zzq
https://dl.doubtnut.com/l/_CHeAhbhDrZuW

B.z% — 42® — 3z + 2
C.+z%, —4z?, — 3z,2

D. :1:3, 4:1:2, 3x, 2

Answer: B::C::D

° Watch Video Solution

5. Coefficient of 2 in (2° — 1)(z — 2) is

A 2

D.+1

Answer: B



https://dl.doubtnut.com/l/_CHeAhbhDrZuW
https://dl.doubtnut.com/l/_j7i0x17QPswZ

| &J Watch Video Solution

6. The degree of the polynomial /5 is :

A1/2
B.O

C.1

Answer:

o Watch Video Solution

7.1f deg (f(x))=5 & deg (g(x))=4 then deg [f(x)-g(x)] is

A5


https://dl.doubtnut.com/l/_j7i0x17QPswZ
https://dl.doubtnut.com/l/_RYK2QYZK7Zdm
https://dl.doubtnut.com/l/_tH1nnE9Hj2KX

B. 4

C.1

D.9

Answer:

° Watch Video Solution

8. Degree of cubic polynomial in two terms is :

A.O

B.1

C.2

D.3

Answer: C



https://dl.doubtnut.com/l/_tH1nnE9Hj2KX
https://dl.doubtnut.com/l/_k1ibygZOn2Qf

| @J Watch Video Solution

9. Degree of the zero polynomial is

A.O

B.1

C.2

D. Not defined

Answer: D

o Watch Video Solution

10. Degree of non zero constant polynomial is -

A0


https://dl.doubtnut.com/l/_k1ibygZOn2Qf
https://dl.doubtnut.com/l/_CztfFdUALGGB
https://dl.doubtnut.com/l/_475jTBemSr3f

B.1

C.—1

D. Not defined

Answer:

° Watch Video Solution

11. The zero (s) of the polynomial 2 — 8 is (are):-

A8
B.2y/2
C.2v/2, — 22

D. /8

Answer: B



https://dl.doubtnut.com/l/_475jTBemSr3f
https://dl.doubtnut.com/l/_A0GYJiADUScv

Watch Video Solution

12. The zero (s) of the polynomial 22 — 2zis (are):-

A0
B. 2z
C.2

D.0,2

Answer: B

o Watch Video Solution

13. If (px+q) is a factor of the polynomial h(x) then which one is

true:


https://dl.doubtnut.com/l/_A0GYJiADUScv
https://dl.doubtnut.com/l/_HR7E4fByGEJd
https://dl.doubtnut.com/l/_ga5UsFjBzAUo
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Answer:

o Watch Video Solution

1
14. Let h(x) be a polynomial such that h( — §) = 0, then one of
the factors of h(x) is
A. 3x-1
B. 3x+1
C.x-3

D. x+3


https://dl.doubtnut.com/l/_ga5UsFjBzAUo
https://dl.doubtnut.com/l/_hOVr0SKDGq3y

Answer: A::C

o Watch Video Solution

15. If y+2m is a factor of y° — 4m?y® + 2y + 2m + 3 then value

of is-

| w W

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_hOVr0SKDGq3y
https://dl.doubtnut.com/l/_8xADe1Qn6Mny

16.1F ( — p? (2 11)(2p411) thengqi
. 1—6p—q = Zp— Zp—l— enqis

AN
B.1

C.121

Answer: A::B

o Watch Video Solution

17. If 3r =a+b+c, then the value of
(z—a)+ -0+ (z—¢)’-3@—a)(z—b)(z—c) is

a+ b+ c(b)(a—b)(b—c)(c— a)0(d) None of these

A. a+b+c


https://dl.doubtnut.com/l/_p144juR9Gn9W
https://dl.doubtnut.com/l/_J86No3eOpRuN

B.O

C.1

D. 3(x-a)(x-b)(x-c)

Answer:

° Watch Video Solution

18.1f p+q+r=9 then (3 — p)® + (3 — )6(3) + (3 —r)*is:

A.3(3-p)(3-q)(3-r)
B.O

C.1

D.-3B8-p)3—-q@B—r)

Answer: C



https://dl.doubtnut.com/l/_J86No3eOpRuN
https://dl.doubtnut.com/l/_iO3BR3S5XPGy

| &J Watch Video Solution

19.1f (z — 1)(z — 2) = 2> + az® + bc + 5 x 2 x 1 then c will be

Al
B.2

C.5

Answer:

o Watch Video Solution

20. If (z+2)(z —5) = 2> + (a + b)z +a x b then value of

(a+b) is


https://dl.doubtnut.com/l/_iO3BR3S5XPGy
https://dl.doubtnut.com/l/_KoT2WBm4Q7Ls
https://dl.doubtnut.com/l/_9jwEA1udITu1

A3

C.7

D.—10

Answer: C

o Watch Video Solution

21.49° — 30° + (....... )® =3 %49 x 30 x 19

o Watch Video Solution

22.The polynomial containing two non zero terms is called......

o Watch Video Solution



https://dl.doubtnut.com/l/_9jwEA1udITu1
https://dl.doubtnut.com/l/_tCRGEy4M9lHV
https://dl.doubtnut.com/l/_a97umPpZXHAd

23. The polynomial containing exactly two non zero roots,

polynomial has degree........

o Watch Video Solution

24.1fl(zx) = 4z + Lthen I( — 6) — I( — 5) iSuwwrerrnn '

o Watch Video Solution

p(z) =2 — 222 + 2z +1 then p(0) x p( —1) = ...

o Watch Video Solution

26.1f p(x) = 22 — 3z +2 then p(1) + p( — 1) — p(0) iS wororen

| - |


https://dl.doubtnut.com/l/_EpAsUrQPCj6s
https://dl.doubtnut.com/l/_qm80rhsKIq1x
https://dl.doubtnut.com/l/_pHjxzXMqq1Kc
https://dl.doubtnut.com/l/_nrxHejQ7xzYQ

| &J Watch Video Solution

27. If sides of a square is (x+2y-z) units then the area of the

square is......

o Watch Video Solution

28.1f 2> + mz — 30 = (z — 5)(z + 6) then miis .......

o Watch Video Solution

29. A quadratic polynomial can be written as the product of

....... linear polynomials.

° Watch Video Solution



https://dl.doubtnut.com/l/_nrxHejQ7xzYQ
https://dl.doubtnut.com/l/_xNez5Errgpkw
https://dl.doubtnut.com/l/_TVce0KbR3e2i
https://dl.doubtnut.com/l/_gEBVPuDJ4vSg
https://dl.doubtnut.com/l/_MOIPcUej5fX8

30. If the factors of 5z% — 18z + 9 are (ax+b), (x+b) then the

value of a & b of are .......... L— respectively.

° Watch Video Solution

31. In the polynomial 3 — 5z, the expression z3&5z are called

......... of the polynomial.

o Watch Video Solution

32. When a polynomial q(x) is divided by (x-2) & the remainder

g(2)=0 then (x-2) is @ .......... of the polynomial.

° Watch Video Solution

True False



https://dl.doubtnut.com/l/_MOIPcUej5fX8
https://dl.doubtnut.com/l/_Q9Nsx0M64rTZ
https://dl.doubtnut.com/l/_L3zgD6cwa4B9
https://dl.doubtnut.com/l/_lwy82aC9Gmtn

1. Every polynomial is also an equation.

o Watch Video Solution

2. write whether the following statements are true or false ,
justify Your answer.

(i) A binomial can have atmost two terms.

(ii) Every polynomial is a Binomial .

(iii) A binomial may have degree 5.

(iv) zero of a polynomial is always O.

(V) A polynomial cannot have more then one zero.

(vi ) the degree of the sum of tum polynomals each of degree 5 is

wlways . 5

o Watch Video Solution



https://dl.doubtnut.com/l/_lwy82aC9Gmtn
https://dl.doubtnut.com/l/_5T3GXDUq0qf9

3. write whether the following statements are true or false ,
justify Your answer.

(i) A binomial can have atmost two terms.

(ii) Every polynomial is a Binomial .

(iii) A binomial may have degree 5.

(iv) zero of a polynomial is always O.

(V) A polynomial cannot have more then one zero.

(vi ) the degree of the sum of tum polynomals each of degree 5 is

wlways . 5

° Watch Video Solution

4. If 2 is a zero of a polynomial q(x) then 2 is also a zero of

2 x q(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_CtHseFLqoyMb
https://dl.doubtnut.com/l/_N4sWTsCiOtti

5.1f (x — a) is a factor of polynomial p(z) then a is a zero of

a X p(x).True Or False

o Watch Video Solution

6. True or False x =3 is a zero of the polynomial

2 — 3z% + z — 3.

o Watch Video Solution

7.2, and -1 all are zeroes of 2 — z — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_XCpKFG6ITd03
https://dl.doubtnut.com/l/_KIHCvbwSsQ0a
https://dl.doubtnut.com/l/_jvLjHwuCFA9j

8.(z + 1) is a factor of 2" + 1 only if n is an odd integer (b) n is

an even integer n is a negative integer (d) n is a positive integer

o Watch Video Solution

9.When (p* — p — 29) is divided by (p — 6) the remainder is 1.

o Watch Video Solution

10. The remainder theorm is true only when the divisor of the

polynomial is linear polynomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_l2hvPqkvm1HE
https://dl.doubtnut.com/l/_sxDeMRRk6azN
https://dl.doubtnut.com/l/_0IXfbsjTpIX1

11. Match the following Column | to Column I

Column
i) Degree of the polynomial
Ox'+4x = 2x+3
i) Factors of (x+y)'—(x"+y")
i) 97" canbe solved as
iv) Zero(s)of (x=2)"—(x+2)

Columnll
a) (100-3Y
by 0
cy 3
d) 3%y (xty)

o Watch Video Solution

12. Match the following Column I to Column II

Columnl

i) 103103

. X ¥y

iy If y + = 2 thenvalue of
(x=y)'is

i) Numberofzerosofpx g

Columnll
a) 0
by 1
c)y ~1

iv) thevalueof Kwhen (—x"“-2x"*"+K) d) (100+3)’

isdivided by (x+7)

° Watch Video Solution



https://dl.doubtnut.com/l/_QCF5rWyIv8Xg
https://dl.doubtnut.com/l/_VYGNoyV19aLn
https://dl.doubtnut.com/l/_1ZuGyQa7jYuh

13. Check whether q(x) is a multiple of r(x) or not.

Where ¢(z) = 22° — 112 — 42 + 5, 7(z) = 2z + 1

° Watch Video Solution

14. Show that (x-5) is a factor of z° — 322 — 4z — 30.

o Watch Video Solution

15. Evaluate by using suitable identity: (997)3.

o Watch Video Solution

16. Find the zeroes of the polynomial p(z) = z(z — 2)(z + 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_1ZuGyQa7jYuh
https://dl.doubtnut.com/l/_5cRztu1dqkRZ
https://dl.doubtnut.com/l/_YZtXdvcmuJjX
https://dl.doubtnut.com/l/_LxN1u5aQbLJP

17.Find the quotient when 322 — 7z — 6 is divided by (x-3).

o Watch Video Solution

18. Factories 823 + /274

o Watch Video Solution

19.1f p(z) = = + 9 then find p(x)+p(-x).

° Watch Video Solution

20. Find the product without multiplying directly 106 x 94.

° Watch Video Solution



https://dl.doubtnut.com/l/_4Mi2B3iDHbKD
https://dl.doubtnut.com/l/_wFYkH8j0n7hF
https://dl.doubtnut.com/l/_8ylxynIhiZYK
https://dl.doubtnut.com/l/_LahCypK1EsZd
https://dl.doubtnut.com/l/_mwxEo0nKlPHH

21. Expand using suitable identity (2x — 3y + z)z.

o Watch Video Solution

22.Find the value of (351)” — (350)

° Watch Video Solution

1. Factories : 64a® + 96ab + 36b°

o Watch Video Solution

2. Factorise z° + 622 + 11z + 6



https://dl.doubtnut.com/l/_mwxEo0nKlPHH
https://dl.doubtnut.com/l/_wjadFYxx8lOg
https://dl.doubtnut.com/l/_NoBDLyePCBa3
https://dl.doubtnut.com/l/_JJzmyci6mhJp

| & Watch Video Solution

3. If 22 +y* =49 and x —y =3, then find the value of

r —Y

o Watch Video Solution

4. Simplify

(5a — 2b)(25a” + 10ab + 4b° _ ) — (2a + 5b) (4a® — 10ab + 25b%).

o Watch Video Solution

5. Find the sum of remainders when z° — 322 4+ 4z —4 is

divided by (x-1) and (x+2).

o Watch Video Solution



https://dl.doubtnut.com/l/_JJzmyci6mhJp
https://dl.doubtnut.com/l/_FGsJ8pJwDks8
https://dl.doubtnut.com/l/_ve7AynVulXh0
https://dl.doubtnut.com/l/_z6RW3U1999GM

. 1 1 o 1 4 1
6. Find the product ——llp+=)lp"+—= )P+ — |
P p p2 p4

o Watch Video Solution

7.Factories 7+/2k% — 10k — 44/2

o Watch Video Solution

8. simplify: (3z — 4y)® — (3z + 4y)°

o Watch Video Solution

9. Use appropriate identity, expand (2a)® + b + (3¢)® — 18abe.

o Watch Video Solution



https://dl.doubtnut.com/l/_6RVmHLjWoOVq
https://dl.doubtnut.com/l/_1eWHyJ77JEJM
https://dl.doubtnut.com/l/_6WU5DCwGkD8M
https://dl.doubtnut.com/l/_6pmXE2N52yBJ
https://dl.doubtnut.com/l/_WCJnF7joQuvH

10. Simplify (z + y + 2)° — (z — y — 2)°.

o Watch Video Solution

11. Factories 125> + 8y* + 2° — 30zyz.

o Watch Video Solution

12. x+2 is a factor of polynomial az® + bz? + z — 2 and the
remainder 4 is obtained on dividing this polynomial by (x-2). Find

the value of a and b.

° Watch Video Solution



https://dl.doubtnut.com/l/_WCJnF7joQuvH
https://dl.doubtnut.com/l/_tLTfUWfTVn2e
https://dl.doubtnut.com/l/_H5IRvPStdCb5

13. I the polynomials az® + 42* + 3z — 4 and 2* — 4z + a leave

the same remainder when divided by (z — 3); find the value of a.

o Watch Video Solution

3 3 3
b () —(2) - (1) = 2 fndx
10 5 2 50

o Watch Video Solution

1
15. If (z — 3) and (a: — §> are factors of the polynomial

pa:2 + 3z + r, show that p=r.

o Watch Video Solution

16. Using identify, find the value of ( — 7)* + (5)® + (2)°.



https://dl.doubtnut.com/l/_eiIWlqTHSHjL
https://dl.doubtnut.com/l/_UMzTVADgu4yM
https://dl.doubtnut.com/l/_1cRpTQFodjE2
https://dl.doubtnut.com/l/_yWdeV2RrplXi

| o Watch Video Solution

17. Find the dimensions of cube whose volume is given by the

expression. 4z + 14z + 6.

° Watch Video Solution

18. Given possible expression for the length and breadth of each
of the following rectangles if.
(i) Area = (332 + 5v/bz + 30) sq.unit.

(i) Area = (242 — 26z — 8) sq. unit

o Watch Video Solution

19. A literacy caompaign was organised by Class IX girl students

under NSS. Students made (x-5) row and (3x-4) columns for the


https://dl.doubtnut.com/l/_yWdeV2RrplXi
https://dl.doubtnut.com/l/_ZJreWpwds4bh
https://dl.doubtnut.com/l/_3DBoNVKpFrdn
https://dl.doubtnut.com/l/_9rcAiS77sF7C

rally. Write the total number of students in the form of a

polynomial.

o Watch Video Solution

20. Under tree plantation programme students of Class IX
planted total (3ac2 — 4z — 4) trees in school.

If total number of students is the class (x-2) then find out number
of tree planted by each students. (Assuing each students planted

equal number of trees).

o Watch Video Solution

21.

b+ c)? +a)® +b)°
Ifa+b+4c=0, findthevalue( 9 + c+a) + (atb)

be ca ab

o Watch Video Solution



https://dl.doubtnut.com/l/_9rcAiS77sF7C
https://dl.doubtnut.com/l/_yy3SHR1x78tR
https://dl.doubtnut.com/l/_VGXb79yVQoHD

(@ —1?)° + (2 - &)’ + (@ - )’

22. Simplify: (a T+ (o C)3 o a)3)

o Watch Video Solution

23. Factorise: (2a — b — c)3 + (26— c— a)3 +(2c—a — b)3

o Watch Video Solution

24. If the polynomial 4z — 16z* + az + 7 is exactly divisible by

x-1, then find the value of a. Hence factorise the polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_VGXb79yVQoHD
https://dl.doubtnut.com/l/_gaUJNffORr2n
https://dl.doubtnut.com/l/_IugAAg3uMdpq
https://dl.doubtnut.com/l/_UuHL5aeqwYhR

25. If pg & r are all non zero and p+q+r=0, prove that

2 2 2
T
qr rp pr

o Watch Video Solution

26. Factories 92° — 2722 — 100z -+ 300

o Watch Video Solution

27.If (x+4) is a factor of the polynomial 3 — 2% — 14z + 24, find

the other factors.

o Watch Video Solution



https://dl.doubtnut.com/l/_NXs6VDMfgf7L
https://dl.doubtnut.com/l/_0eD6wyYPi536
https://dl.doubtnut.com/l/_H1fksofG4HR1

28.

+ — = — 1(where,x,y # 0) then find the value of

r,y
Y T

2% — ¢

o Watch Video Solution

155 x 155 + 155 x 55 + 55 x 55
" 155 x 155 x 155 — 55 x 55 x 55

o Watch Video Solution

Practice Test

1
1Is (acz) 2 4 2sqrbda polynomail?

o Watch Video Solution



https://dl.doubtnut.com/l/_I5d35QFLV9mH
https://dl.doubtnut.com/l/_f0EWbJLBy2Dm
https://dl.doubtnut.com/l/_NFLwrC6s2ZtS

2.1) Check, whether 1 is the zero of the polynomial 923 — 5z + 20
2) Show that z =1 is a zero of the polynomial

3z — 4z% + 8z — 7

o Watch Video Solution

3. Find the zeroes of the polynomial 22 — 4z + 3

o Watch Video Solution

4. If x+y+2z=6, xy+yz+zx=11. Find the value fo 2% + y* + 2%

° Watch Video Solution



https://dl.doubtnut.com/l/_BHopzwLRXqWh
https://dl.doubtnut.com/l/_TYc6UQUCmWUk
https://dl.doubtnut.com/l/_ubcGS9Ta6EmL

5. f z=—- is a zero of the polynomial

f(z) = 22 — 112 + kx — 20, find the value of k

o Watch Video Solution

6. Factorize: a® + b* + 2(ab + bc + ca)

o Watch Video Solution

a’ b? c
7.1fa + b + ¢ = 0, then find the value of — —|— — —|— —
be ab

° Watch Video Solution

8. Factorise z2 — 23z2 + 142z — 120.

o Watch Video Solution



https://dl.doubtnut.com/l/_wRzAAmcShm8u
https://dl.doubtnut.com/l/_b8p390tYq21k
https://dl.doubtnut.com/l/_u5KoQy0jpBCb
https://dl.doubtnut.com/l/_Fg316k8Ecj36



https://dl.doubtnut.com/l/_Fg316k8Ecj36

